MARKING SCHEME

ECONOMICS (576)
Class 12th SAMPLE PAPER SET: B M.M:80
Q.NO. EXPECTED ANSWER/VALUE POINTS MARKS
1 d) T BT Rigid d) Theory of demand 1
2 | MRSy =2 a) MRSy = =% 1
Py Py
3 d) Idla d) production 1
4 ¢) gl R J el g | ¢) Increasing at a decreasing rate 1
5 a)iﬂ%'ﬂ?ﬂ BISIREI gRI a) By rectangular Hyperbola 1
6 u — 3HThR Bl U- shaped 1
7 YATHD Positive 1
8 CININ Market 1
9 a) THBYF(A) 3R BRI (R) & T8 TR a) Both Assertion (A) and Reason (R) are correct 1
BRI (R) HUT (A) B! gl AT | and Reason (R) is the correct explanation of Assertion (A)
10 | 9 SHUHUF(A) TET § Wb HRUT (R) T g | Assertion (A) is true but Reason (R) is false. 1
11 3= §Td JHM 3§+ IR ofF fard! aﬁaﬁ T PHIH | Other things being equal, when a commodity's price decreal 1.5
FHH 81 & Hoaey IT@! [T B G STA A | As a result, if its demand becomes more then it is called 15
3 O &7 fadR Hgl a1 2| expansion of demand.
Vﬂ““; i Pric
E°
H N A
ol . RN,
3peyar N
. Or
et o 1 ufdl 9 aiftrm ag &1 S AN AR
ST U fdshll faf¥s w4 BiAdl R Mg w7a d Supply of a commodity means those quantities of the 3
I & fTT R BIe 5 commodity which a seller is ready to sell in a given time at
I8 & UHR B1 gl g various possible prices. It is of two types.
1. SgfeRTTd 1. Individual Supply
2. §ISIR 2. Market supply
12 | =W P TP P YR R aﬁ\?ﬁﬁ A R TJ On the basis of demand perspective, goods are 1+ 1+
aﬁma&%mﬁaﬂmmw% St classified as normal goods and inferior goods. Whose 1
qﬁW%ﬂ bR %’I definition is as follows.
1. A IR - I TG Gl Iy gfom@ em | 1. Ordinary goods:- Ordinary goods are those goods
UTE TS gl g | WWﬁ%Wﬂﬁ which have positive income effect. In relation to normal
JUHFT B S R AHT IGSHT BT AR F U | goods, there is a direct relationship between
g gl consumer's income and demand for normal goods.
2. gfear aeg.- °fean ¥ d ¥ § fSFd! Uit 3| 2. Inferior goods:- Inferior goods are those goods
TR gedt § 3R 31T e R dad § 3fufd whose demand decreases when income increases and
BT 3T YHTG BUMTHS Eﬁ?ﬂ %I increases when income decreases, that is, whose income
effect is negative.
13
. - = 3
mRiknu | dqy dqy ifuorZu”khy lhekar Production Total Total variable Marginal
(bdkb;ka ykxr ykxr ykxr (units) Cost cost cost
0 12 - - 0 12 _ _
1 18 18-12=6 18-12=6 1 18 18-12=6 18-12=6
2 2 21-12=9 | 21-18=3 2 2 21-12=9 21-18=3
3Yd1 Or
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Perfect competition market is a market in which there are

many sellers of an identical product and the price of the 1.5+
TIREY G & 9gd 9 fAshal gd 8 AUMT I BT BIEA | product is determined by the industry. In this market, 15
IYNT gRT e g1t 3 1 39 sk & Wt v ue all the firms sell similar goods and the same price of the '
@@ﬁm@a—cﬂ% GﬁTWﬁaﬁﬁWﬁm goods prevails in the market. Its features are as follows:-
UfeId gidt 31 S9! faRiyam fFufafad | - 1. Firms can enter this market freely and old firms can
1. TY IR B T W ¥ Y YA HR FHA ¢ 3R | leave that industry.
gﬂ:ﬁmﬁw JUNT P BIS B off Tbell B 2. In this market, complete mobility is found in the goods
2. wwﬁaﬁw JUT YA SR A YA H | market and the resources in the factor market.
quf wifasfierar o S g1
14
Wumawagaw%\—sﬁmmaﬁﬁmam Market demand curve is a curve that shows the sum of the
TR SOR & Gt Suiadrafl gr1 Al 78 AEnelf & quantities demanded by all the consumers in the market at| 242
SIS P! Uebe ol § | STSTR HTT 95 SATGRTd AT dsh | different prices of a commodity. The market demand curve
P YR WS B is the sum total of the individual demand curves.
e A 69 G oo 8 6 70 5 ) el Feo
iR AR
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15 Ay ag emﬁ%wwm%wwﬁfiﬁ Short run is the period when some factors of production 4
g Gﬁ'\’@ﬂﬁﬂ?ﬁ?ﬁﬁ@ﬁ%l URad-I BRI & | are fixed and some are variable. Production can be
stﬁmmww%l HeUhIA | increased only by increasing the use of variable factors.
T IcdTe T T FRR g g | In the short run the scale of production remains constant.
Gl ST, 3| ﬁ@%mﬁﬁ BT JAGT | The short run production function in case of two inputs,
ThaH, %ﬁﬁ@ﬁw 3R 1 & URad-1g IdTe| labour and capital, can be expressed by treating capital as
% =U H oo {1 S Wb 8, ST K FAfd Sare &Y fixed and labour as variable input, where K refers to the
Teffd erar gl fixed input.
Q =F (L k) Q=F(Lk)
16
BIEH Uldhd &1 g9 a1 g dtaid Sargddl The law of diminishing returns or the law of diminishing 242
Wﬁmwﬁwﬁm %ﬁw%%ww% marginal productivity is a law that states that when one +2

U HRS b TG Il § ST GOR HRP Pl (R
A1 A1 8, O Ul 3T & ey | Iarg & e o
fiRTae grft
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ST 8, dl U8 e ot SAehdT H gig grfl, dfeh S-Sy
3Yc &1 gfgeiiel U J T¢I o 8, 39
IRUMRE=Y Iadre | fIRTae 3t 3R 3fdd: I8
THRIAD &I ST,

Total  Average  Marginal
Product  Product  Product
1 10 10 10

2% 12 2%
36 12 12

44 1 8

48 9.6 4

48 8 0

47 6.7 1

Labor
| Stagel

Product

NowaswN

factor of input is increased while another factor is kept
constant, there will be a decline in the output per unit of
output.

In other words, when a factor of production is increased
incrementally while all other factors are held constant,
productivity will increase at first, but as inputs are
increased incrementally, it will decline. As a result
production will decline and eventually turn negative.

Total  Average  Marginal
Product  Product  Product
1 10 10 10
24 12 24
36 12 12
a4 1 8
48 96 4
48 8 0
47 6.7 1
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Increase in demand:-
1. When more quantity is demanded than before at the

same price, it refers to an increase in demand. 3+3
2. A A 3 79 Bt § O T S W 3HH 2. An increase in demand occurs when more is purchased
WieT SITaT § TR FHH AT | A 31fRip Bad R at the same price and a decrease in the same quantity is
G SR B purchased at a higher price.
3. mﬁq@ﬁmwﬁaﬁ 3R Seama § gRIar 3. An increase in demand is shown by a shift in the
ST gl demand curve to the right.
i # HH:- decrease in demand:-
1. wwmwuﬁﬁwﬁm 1. When less quantity is demanded
T &1 A7 &1 S 8, I8 917 | B B Gefia than before at the same price, it refers to a decrease in
W‘cﬂ%l demand.
2. 977§ S a9 BId § 5d YU BIHd W HH WGT | 2. A decrease in demand occurs when less is purchased at
ST € I1 H BIHd W JHM A6 BRI S 81 the same price or the same quantity is purchased at a
3. AT & S I A 9% B 915 3R Jaond A -1 | lower price.
ST gl 3. A decrease in demand is shown by a shift in the demand
curve to the left.
ép D Demand gr /mi" b D min b\, i
D b D, 2 g!’ g: e
) =0, D P D, D
—_— e o LI .
Fig.4 Fig.5
17 IIUT ORI ot Wﬂﬁﬂﬂ?ﬁwm TH BH | In the case of perfect competition, the equilibrium priceis | 2+2+
ERT T8 gl § Sfcsh ITOIR |l a7 §ToR qﬁfaﬁ not determined by only one firm but is determined by the P
RER i gr1 Rofid 8idt @ s giv ¥ Siftuw mutual forces of market demand and market supply.
; : | Market demand means the total sum of demand for a
Al ™ & RO HIT S TH & TS 3 & ofl TR A commodity which is made by all the buyers in the market.
Tl el GRI BT Sl 81 SToR gfd & sty felt| |
. s. Market supply means the total sum of supply of a
kil qﬁ% S pd SIS 4 ¢ ol aToR & Feft oo I & commodity that all the firms in the market are ready to sell.
TR WWWWWW & o AT Therefore, market equilibrium is achieved when the
3R &T@WW@@W% | 39 JHY AT 3R | demand and supply curves intersect each other. At present
&T@ﬁwgl T H1Fd DI e HHd b =g || demand and supply are equal. The price concemed is
AT & 3R T Y e THT % = & ST ST | known as the equilibrium price and the quantity
demanded is known as the equilibrium quantity.
dher iwfrZ ekax -
5 50 10 Price Supply Demand
2 20 20 5 50 10
3 30 30 4 40 20
2 20 40 3 30 30
1 10 50 2 20 40
1 10 50
3Yd1 OR
WWWW%@W Gﬁ? &t Hdy Supply curve is a graph that shows the relationship
fearer 21 @Iﬁ@l@aﬁﬂ?{aﬁ% PTAR 4t between price and supply. As prices rise, the quantity 3+3
&Hﬁﬁ?tl?a'a{\_rlﬁﬁ%l supplied also generally increases.
Wa—%ﬁg G@%@gﬁ%ﬁﬂﬂﬂ W, WW Depending on the elasticity of supply of a good, supply

curves vary in shape and steepness.
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There are two types of supply curves: individual and

market. An individual supply curve shows how the
quantity supplied by a business changes as prices
increase. The market supply curve shows the overall
market supply for given prices; It is the sum of the supply
curves of all sellers.

Eﬁa? frefe o :- Determinants of supply :-
1. price.

1. o 2. Number of sellers in the market.

2.9y {ﬁﬁﬁ&hﬁm | 3. Price of resources.

3. W?Fﬁﬁﬁtlﬁ | 4. Tax rates and subsidies.

4. PR IR Hfows | ! 5. Improvements in technology and automation.

5. e fiest 3-ﬁq Wﬁ gur' | 6. Expectations of suppliers.

6. \%W@av_rﬁ\”ﬁ?ﬁ@]nfl g 7. Price of related products.

7. Felftd ITe 1 BIEd |
18 | d) SWRiaa it d) All of these 1
19 | b) ®US b) clothes 1
20 | b) Udlg b) Flow 1
21 | ¢ IE &1 Yo Td [qeR c) Contraction and Extension of credit 1
22 |0 SLEL Y c) J.B. Say. 1
23 | Y™ zero 1
24 | gl capital 1
25 | 3Hd Infinity 1
26 a) G{ﬁ-ﬁ%ﬁ(A) 3R BRI (R) Eﬂ:ﬁ Hﬁ’[ % 3R a) Both Assertion (A) and Reason (R) are correct 1

PRI (R) HBUT (A) P TE! TS 2| and Reason (R) is the correct explanation of Assertion (A)
27 | a) G{ﬁ-ﬁuﬁ(A) 3R BRI (R) RG] el % 3R a) Both Assertion (A) and Reason (R) are correct 1

PRI (R) HBUT (A) P TE! TS 2| and Reason (R) is the correct explanation of Assertion (A)
28 3

3T U I8 B1 3Af & G falt 32T gRT National income is the monetary value of all goods and
Iaried gt aﬁ\ﬁ 3R Tarsfi &1 Mfss Hl gl services produced by a country during a period of one
year.

1. RITTAROT 379 Y M :ﬁ}[ﬁv_&ﬂ GTFlTﬂT%’QI 1. Transfer income should not be included.

2. 3fay TIafafert I g arelt 3 & 2nfiyd el fvam | 2. Income from illegal activities should not be included.

GI'HTET%QI 3. Income from financial transactions (sale and purchase

3. foxfig @A (‘\ﬁTR, fedR SR g S-I'Iﬁ) CARCE of shares, debentures and bonds etc.) should not be

3R E{IG U I ITeH 3T P M Tol fbaT I | included.

EIT%EI 4. Income from sale of second hand goods will not be

4.9%S &8 IMHE &1 faeht ¥ 81 aTell S BT AW | included as it causes problem of double counting.

T8 foban ST erlfch S el el ot were

Hoik] OR

HYdl Investment multiplier refers to the increase in the total 3

e e =1 gRaSS & TU § WHR gRT by
e o # 9fg & uRumRaET sifaraw &t Fd
3 H g Bl Wefiq Brar g |

3w 0T 1 3R Tt srfaraw & Wt (1
JUUNT XA B H7d UgRT & S H ST 1l 5) AT
T (G B B QI TgRT P T H ST S 8)
¥ &t o oRarY & fofar grr Fuffa fasar smar g1
T B! FEfIRId T gRT <=itaT S 9 5

K=AY/Al

income of the economy as a result of increase in
investment made by the government in the form of new
projects.

The size of the investment multiplier is determined by the
decisions of households in the areas of spending

(known as the marginal propensity to consume) or saving
(known as the marginal propensity to save) in an economy.

The multiplier can be represented by the
following formula.

K=AY/Al




29 1.5+
Mfge Hfa a1 are Faso T i o & Fig o6 Monetary policy or credit control means controlling the 15
R1 A I &1 Ui & g ¥Rg & a1 qUT | contraction of credit and expansion of credit by the Central |
TG & AR o1 R AT ] Bank of the country to achieve certain objectives.

TS U & Hig 36 B A Afa &b BT 3URRUT | The main instruments or measures of monetary policy of
YT U g9 UhR g the central bank of a country are as follows:-
&m‘qﬁ&n's‘ﬁﬁ%ﬁﬁ @me Hif) # e g The monetary policy (credit policy) of RBI is given below
T I | 1%12 Ry a1 TSR M % The two instruments given in the chart are:

wfge U monetary measures

1. 9TEATAS O19 - §% ¢, ThG MY SUId, 1. Quantitative Measures:- Bank Rate, Cash Fund Ratio,
eI R S{Urd ! Statutory Liquidity Ratio

2. U AY :- AT SHTIIH AT, TIATHD 2. Qualitative Measurement:- Marginal Needs, Selective
Irg fE, Afae gareE Credit Control, Ethical Solutions.

30 2+2
PR ST YT TWRBR D1 3 Wit § 7 b1 Non-tax revenue receipts are those receipts of the
DI BIS B 3 TGl o - ST, ATHTR, 311 government other than taxes.

T Bl It is received from other sources like interest, dividend, etc.
WW o wTftert fAufafead s - Some non-tax revenue receipts are as follows:
1. P ATSHY 9UT R 1. Fees License and Permit
2. Qﬂ?ﬁ'c’ 2. escheat
3. fa=Iy sfid 3. Special Assessment
4. JuTT Td It 4. Fine and confiscation
5. WRBRI ITH F 31 5. Income from government enterprises
6. JUBR dYl 3Jald 6. Gifts and grants
SYdr Or
By e I b Hdied b & Sl o b1 W{Uf sifebTr The Central Bank is the supreme bank of the country which
YUt T FRIFI PRl & | $9 6 BT BRI SffdBRIT | controls the entire banking system of the country. The
= o Fau A aifep faebre & B 1 e ST work of this bank is to make the work of economic 2+2
I 81 P o RT fbT & ATl BT S UPR B - development possible in the context of underdeveloped
1. Fe SR’y X countries. The functions performed by the Central Bank are
2. WW% follows:
3. WW% 1. Issue of notes
4. 9% F1 FARe0T 2. Government Bank
3. Bank of Banks
4. Inspection of banks

31 2+2
q\TrﬁEI'ITﬁ SR I U I ST § Capitalist economy means that economy in which
o anffe foraraeti &1 SR wnfaaal &t o economic activities are left to the independent interaction
Sfdferal | BT a1 I 31 Ide® 37 aﬂehqa of market forces. Producers are free to produce those
JaT37 BT IATGH B H Wi ¢ Forep! ART e § goods and services which are in high demand so that they
aifes I 3 Y 3BT B b 3rUfd BRI H\Trﬁ?ﬂ?ﬁ can maximize their profits, that is, in this capitalist
SrfeaR & I Ay HHH & Ie=a Y fova Srar economy production is done with the aim of earning
HERERE G %H’@[ AU I UBR § :- profit. The main characteristics of this economy are as
1. ot dufd &t wadaar eit & | follows:-

2. DITd W 1. There is freedom of private property.
3. IYH B! WaAdl 2. price plant
4. Y RO 3. Freedom of enterprise
4. Profit Motivation
32 2+2

fopedt G2 ot o W1 A v o 9y | I e
R forat off sifom agat 3fR Jarsft &1 Idre grar
? foras e ot i g § 13! SR S iad

P SIS DI I6R 1A R Ybd R IAIG Bl olidl

The total number of final goods and services produced

by all producers within a country's domestic territory in an
accounting year, including depreciation, is called gross
domestic product at market price.




|

ISR BIHd R Yebel AP IATE (GNPyp) =
TOR Sd R JHA TR SUIG(GDPyp) + fac= J
U fAad R& M

Gross National Product (GNPwp) at market price =
Gross domestic product at market prices (GDPwp) + net
factor income from abroad

33 Differences Microeconomics Macroeconomics 3 + 3
| Microeconomics is the study of | Macroeconomics studies the economy
=t arderssr @ wafe arifersr 3 = 3mET B Defi actions of individuals and as a whole and not a single unit but
pre— = [=iee 3 = T small groups of i idual of all.
f&g Particular households, firms and National income, general price levels,
aref whrard getedl | @ | A@eE 3f T Concernwith | industries national output, unemployment and
anfefs RTTET = @t weEw  g@rsat poverty
srerrer o wiET B @I TS EET On demand side is to imize utility | Full employ , price stability,
Objective whereas on the supply side is to economic growth and favourable
S F i minimize profits at minimum cost balance of payments.
BEATTel ol | aAHe  Tel=leUl, SUMTadl | AserE 3T deln
& Hgeter, Ieure Hgeter Jewne @ frefzor Price mechanism which operates National income, output and
T ar ot ‘I‘% i ﬁm e o ::::e:he Pt e aggr.egatede::::cc:‘:r::aggreg;te o
AT supply
srerzer ot | ariferes Fgeter Faectwr | wmeres wgetet | Rational behaviour of individuals | Aggregate volume of output of an
Frferert Rreersor Assumptions economy, the extent to which its
ECiera afaota | &AteT, | Qid, |H@Sa #9l, | @et — Pi = STJIEEVS :m E:pl;;ed t =
@harer, wof 3 il : it which doesn'::)lriatl‘?:rvuz'r
STda & T8 arRe TE § o _
The explanation given above is correct.
YT
Or
g AT SIFUT:- SHPT 31 5% BT Hof SIS BT
ag W Gﬂq‘m %’ Gﬁ' B@ H‘q % a; U STET XG4T Cash Reserve Ratio:- It means the minimum proportion
Uedl 8 | AT Sah! ﬁm—fﬁ IR R 3O speif | of the total deposits of the bank which it has to keep with
B U AT ufe=ra S 3% U THe AN & the Central Bank. Commercial banks are legally required
FY T TG TSal ¢ | ISR B g afe T f3fyy | to keep a certain percentage of their deposits with the
3fUTd 10 yfawrd g 3R {5t & a1 HT 100 central bank in the form of cash funds. For example, if the
; I minimum funding ratio is 10 percent and the tota
3g P110 o/ ini fundi tiois 10 t and the total 3+3
@ B deposits of a bank are Rs 100 crore, then Rs 10 crore of
this bank will have to be kept with the central bank.
AUTP TRAdT T YD S B! 3T uRufay
; atutory Liquidity Ratio:- Every bank has to legally
T gl F =u Tﬂ:fﬁ AR R TG USd & keep a certain percentage of its assets with itself in the
R YU ‘}WW %r| form of cash or other liquid assets, which is called
9 ; statutory liquidity ratio.
TR 31U 20 % ©, 2 tatutory liquidity rati
I Uy A Y@/ 3R Y 8§ TRG ST é“[w a' BT If the statutory liquidity ratio is 20%, the bank will
Will keep it in liquid assets and will be able to give loan
only the remaining Rs 8 lakh.
34
a) TSR B TR [H U IUTG (GDPwp) = a) Gross Domestic Product at Market Price (GDPwe) = | 3,3

fOPRTT + AIY + ST + Ieet + AoTge] Ia +
TSI YR b HIfereb! T ANTGH + fHaet 3rmrcged
PR + 3 Yoit BT IYHIT|

TOIR PAT R IHA IS 3G (GDPyp) = 10 RIS
+ 25 RIS + 20 RIS + 5 PRAS + 170 PRIS +
30 TS +38 TRIS + 34 TRIS = 332 TS

b) R AN TR Fae I I (NNPeo) =
TSR B TR Febel TRl ScdTq + Taq=Il & ured FHaer
DRD 31 - G SUIE B - 3T Goil BT ITHRT

PRSP AN R Fae AT IdTE (NNPre) = 332 RIS
- 3PS - 38 PRIG - 34 PRIG = 257 RIS |

YAl

Rent + Profit + Interest + Royalties + Wages Salaries +
Owners Contribution to Social Security + Net Indirect
Taxes + Consumption of Fixed Capital.

Gross Domestic Product at market price (GDPwp) =
10 crore + 25 Crore + 20 Crore + 5 Crore + 170 Crore +
30 Crore + 38 crore + 34 crore = 332 crore

b) Net National Product at Factor Cost (NNP¢c) =
Gross Domestic Product at Market Price + Net Factor
Income from Foreign - Net Indirect Taxes - Consumption
of Fixed Capital

Net National Product at Factor Cost (NNPrc) = 332 crore
- 3 Crore — 38 Crore — 34 Crore = 257 Crore.

OR




T A% b Hed &1 TUHT oid T aR I HATYD Bieht ©
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Iane fify ageu gfs faft) o fafY 8 f v dn an
T 3R 31 I AT & ST TP SAGH 399 &b
gamﬁaﬁwﬁwmq@n&mﬁmﬁ
|

39 faftr & 9o ugd I SgHI &1 UgAH DI o ©
S I B g, 3R IahT Fifepur = Aoy
3T STl § 1 ISP S1G Glest VAT &1 & B 78@d gL,
e gfG &1 TT0MT &1 ST 3

Idre fafd (e g fafd) & deiferd raet=ai-

1. QR g3l o o fachy & g i o =i

EEACRIICIE Y

2. QR 9l & AR $I gerrelt ol §ed I &
<A 61 e S e

3. Aegadf aegell & Hed & god gig & 2nfiret et

fopar ST =T
T R g 391 off Rifta
|

4. {59 9ol § Afiie
foovmar anfure fobar Siran

When the price of an item is calculated more than once,
it is called double calculation.

Product method (value added method) is a method that
measures national income by calculating the contribution
to the output of each productive enterprise within the

domestic border of the country in an accounting year.

In this method, first of all those enterprises which produce
are identified, and they are classified into three categories.
The price rise is then calculated keeping double counting
in mind.

Precautions related to product method (value added
method):-

1. Buying and selling of old items should not be included
in the price increase.

2. Brokerage of old goods traders should not be included
in the price increase.

3. The value of intermediate goods should not be included
in price rise.

4. The imputed rent of the houses in which the owners
themselves are living is also included.

3+3




